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Just use diode network, 2 diodes, 2 C’s,  shown attached  pin 3. Ignore 555 timer, that’s just
There to generate a squarewave for the – voltage generator.
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Figure 1 The diodes and capacitors produce a nega-
tive voltage.





This uses smaller caps, so cannot supply as much current.

In both cases some switching ripple will exist, generally OpAmp PSRR will take

care of this. You have to perform an error analysis to make sure you meet design

goals.
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R needs to be selected as a high value, to minimize signal loading, but not so high that

ADC and C leakage create a large offset across it.

C and R form a high pass filter, so C value controls LF cutoff of this filter, choose its size to

pass your lowest frequency of interest.

Note this eats up an additional pin.

This has advantage offset directly derived from internal reference.

